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Table of Integrals 
1. ∫u dv = uv −∫v du 11. ∫ csc ucot u du = − csc u + C 

2. ∫un = un+1 + C, n≠ − 1 12. ∫ tan u du = lm |sec u | + Cn+1 

∫ du3. = ln |u| + C 13. ∫ cot u du = ln |sin u | + Cu 

4. ∫ eu = eu + C 14. ∫ sec u du = ln |sec u + tan u | + C 

au5. ∫audu = + C 15. ∫ csc u du = ln |csc u − cot u | + Cln a 

6. ∫ sin u du = − cos u + C 16. ∫ du = sin−1 u + C 
2 2 a√a −u 

7. ∫ cos u du = sin u + C 17. ∫ du = 1 tan−1 u + C2 2a +u a a 

8. ∫ sec2u du = tan u + C 18. ∫ du = 1 sec−1 u + C 
2 2 a au √u −a 

du 1 u+a9. ∫ csc2u du = − cot u + C 19. ∫ = ln | | + C2 2a −u 2a u−a 

du 1 u−a10. ∫ sec utan u du = sec u + C 20. ∫ = ln | | + C2 2u −a 2a u+a 
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BASIC FORMS 
FORMS INVOLVING 

√a2 + u2 , a > 0 

21. ∫ √a2 + u2du = u √a2 + u2 + a2 ln (u + √a2 + u2) + C2 2 

u a422. ∫u2√a2 + u2du = 8 (a
2 + 2u2)√a2 + u2 − 8 ln (u + √a2 + u2) + C 

2 2 2 2√a +u a+√a +u23. ∫ du = √a2 + u2 − a ln| | + Cu u 

2 2 2 2√a +u √a +u24. ∫ du = − + ln(⁡ u + √a2 + u2) + Cu3 u 

du25. ∫ = ln (u + √a2 + u2) + C 
2 2√a +u 

u2du a226. ∫ = u √a2 + u2 − 2 ln (u + √a2 + u2) + C 
2 2 2√a +u 

du 1 √a +u +a27. ∫ =− ln| 
2 2

| + C 
2 2 a uu√a +u 

du √a +u28. ∫ =− 
2 2

+ C 
2 2 a2uu2√a +u 

29. ∫ du = u + C3 2 22 2 2 a2√a +u(a +u ) 
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FORMS INVOLVING 

√a2 − u2, a > 0 

a2 −130. ∫ √a2 − u2du = u √a2 − u2 + 2 sin u + C2 a 

u a4 −131. ∫u2√a2 − u2du = 8 (2u2 − a2)√a2 − u2 + 8 sin a
u + C 

2 2 2 2√a −u a+√a −u32. du = √a2 − u2 − aln | | + C∫ u u 

√a −u33. ∫ 2 2 

du = 1 √a2 − u2 − sin−1 u + Cu2 u a 

u2du a2 −1 + C34. ∫ =− u √a2 − u2 + 2 sin 
2 2√a2−u 

du 1 a+√a −u35. ∫ =− ln| 
2 2

| + C 
2 a uu√a2−u 

du 1 √a2 − u2 + C36. ∫ =− 
2 2 a2uu2√a −u 

3 
2 

u 3a4 −137. ∫(a2 − u2) du =− (2u2 − 5a2)√a2 − u2 + sin u + C8 8 a 

38. ∫ du 
3 = u + C 

2 22 2 2 a2√a −u(a −u ) 

FORMS INVOLVING √u2 − a2, a > 0 

a239. ∫ √u2 − a2du = u √u2 − a2 − 2 ln|u + √u2 − a2| + C2 

u a440. ∫u2√u2 − a2du = 8 (2u
2 − a2√u2 − a2 − 8 ln|u + √u2 − a2| + C 

2 2 a41. ∫ √u −a du = √u2 − a2 − a cos−1 
| + Cu |u 
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2 2 2 2√u −a √u −a42. ∫ du =− + ln |u + √u2 − a2| + Cu2 u 

du43. ∫ = ln|u + √u2 − a2| + C 
2 2√u −a 

u2du a244. ∫ = u √u2 − a2 + 2 ln|u + √u2 − a2| + C 
2 2 2√u −a 

du √u −a45. ∫ = a 

2

2u 

2
+ C 

2 2u2√u −a 

46. ∫ du =− u + C3 2 22 2) 2 a2√u −a(u −a 
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FORMS INVOLVING 

a + bu 

∫ u du 147. = (a + bu − a ln|a + bu|) + Ca+bu b2 

∫ u2du 1 2 − 4 248. = [(a + bu) a(a + bu) + 2a ln|a + bu|] + Ca+bu 2b3 

du 1 u49. ∫ = ln| | + Cu(a+bu) a a+bu 

du 1 + b a+bu50. ∫ 2 =− a2 ln| | + Cu (a+bu) au u 

u du a 151. ∫ = + 2 ln|a + bu| + C2(a+bu)2 b (a+bu) b 

du 1 1 a+bu52. ∫ u(a+bu)2 = a(a+bu) − a2 ln| u | + C 

u2du 1 a253. ∫ = (a + bu − a ln|a + bu|) + C
(a+bu)2 b3 a+bu − 2 

2 254. ∫u√a + budu = 
15b2 (3bu − 2a)(a + bu)

3
+ C 

∫ u du 255. =
3b2 (bu − 2a)√a + bu + C

√a+bu 

u2du 2 2 + 3b256. ∫ = (8a u2 − 4abu)√a + bu + C
√a+bu 15b3 

du 1 √a+bu−√a57. ∫ = ln| | + C if a > 0 u√a+bu √a √a+bu+√a 

2 −1√ a+bu= tan + C if a < 0
√−a −a 

√a+bu du58. ∫ du = 2√a + bu + a∫u u√a+bu 
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√a+bu √a+bu + 2 
du59. ∫ u2 du =− b +∫u u√a+bu 

2 n 2
3 

− na∫un−1√a + budu]60. ∫un√a + budu = b(2n+3) [u (a + bu) 

u2du 2un 2na un−1du61. ∫ √a+bu 
= b(2n+1 − b(2n+1) ∫ √ a+bu 

du √a+bu du62. ∫ = un√a+bu a(n−1)un−1 ∫ un−1√a+bu 
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TRIGONOMETRIC FORMS 

1 163. ∫sin2udu = u sin 2u + C2 − 4 

1 164. ∫cos2u du = 2u − 4sin 2u + C 

65. ∫ tan2udu = tan u − u + C 

66. ∫cot2u du =− cot u − u + C 

167. ∫sin3u du =− (2 + sin2u)cos u + C3 

68. ∫cos3u du = 1
3(2 + cos3u)sin u + C 

69. ∫ tan3u du = 1tan2u + ln|cos u | + C2 

1 270. ∫cot3u du =− cot u − ln|sin u | + C2 

71. ∫sec3u du = 1 1sec utan u ln|sec u + tan u | + C2 + 2 

1 172. ∫csc3u du =− 2csc ucot u + 2ln|csc u − cot u | + C 

1 n−1 73. ∫sin3u du =− sin cos u + n−1 ∫sinn−2u du n n 

74. ∫cos2u du + 1cosn−1usin u + n−1 ∫cosn−2u du n n 

1 n−1 75. ∫ tannu du = tan u −∫ tann−2u du n−1 

−1 n−1 76. ∫cotnu du = cot u −∫cotn−2u du n−1 

77. ∫secnu du = 1 tan u secn−1u + n−2 ∫secn−2u du n−1 n−1 

−1 n−2 +78. ∫cscnu du = cot u csc n−2 ∫cscn−2u du n−1 n−1 

sin (a−b)u sin (a+b) u79. ∫sin ausin bu du = − + C2(a−b) 2(a+b) 

sin (a−b) u sin (a+b) u80. ∫cos au bu du = + + C2(a−b) 2(a+b) 

cos (a−b) u − cos (a+b) u81. ∫sin aucos bu du =− + C2(a−b) 2(a+b) 

82. ∫usin u dn = sin u − ucos u + C 

83. ∫ucos u dn = cos u + usin u + C 

+ n∫u−1 84. ∫unsin u dn =− u2cos u cos u du 

− n∫un−1 85. ∫uncos u du = unsin u sin u du 

n−1 m+1m sin u cos u + n−1 m86. ∫sinnu cos u du =− ∫sinn−2u cos u du n+m n+m 

n+1 m−1sin ucos u −1 m−2= + m ∫ sinnu cos u du n+m n+m 
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INVERSE TRIGONOMETRIC FORMS 

−1 −1 −1 87. ∫ sin−1u du = u sin u + √1 − u2 + C 92. tan u du = u
2+1 tan u u + C∫u 2 − 2 

−1 − √1 − u2 + C ∫un −1 1 n+1 −1 −∫ u du 88. ∫cos−1u du = u sin u 93. sin u du = [u sin u 
n+1 ], n≠ − 1n+1 √1−u2 

−1 1 −1 1 n+1 −1u +∫ un+1du 89. ∫ tan−1u du = u tan u − 2 ln (1 + u2) + C 94. ∫uncos u du = [u cos ], n≠ − 1 n+1 √1−u2 

−1 2u2−1 −1 u√1−u2 −1 1 n+1 −1 u du 90. ∫u sin u du = sin u + + C 95. ∫untan u du = [u tan u 
n+1 ], n≠ − 14 4 n+1 −∫ 1+u2 

−1 2u2−1 −1 u√1−u2
91. ∫u cos u du = 4 cos u − 4 + C 

EXPONENTIAL LOGARITHMIC FORMS 

∫ ueau 1 au + C96. du = (au − 1)e 100. ∫ ln u du = uln u − u + Ca2 

au 1 n au − n ∫un−1 au un+197. ∫ une du = e du 101.∫unln u du = [(N + 1)ln u − 1] + Cau e a (n+1)2 

∫ eau 198. sin bu du = eau (asin bu − bcos bu) + C 102. ∫ dn = ln|ln u | + C2a2+b uln u 

∫ eau eau99. cosbu du = a +b 
(acos bu + bsin bu) + C22 

HYPERBOLIC FORMS 

1103. ∫ sinh u du = cosh u + C 108. ∫ csch u du = ln|tanh u | + C2 

104. ∫ cosh u du = sinh u + C 109. ∫ sech2u du = tanh u + C 

105.∫ tanh u du = ln cosh u + C 110. ∫ csch2udu =− coth u + C 

106. ∫ coth u du = ln|sinh u | + C 111. ∫ sech utanh u du =− sech u + C 
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107. ∫ sech u du = tan−1|sinh u | + C 112. ∫ csch ucoth u du =− csch u + C 
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FORMS INVOLVING 

√2au − u2, a > 0 

a2 −1 a−u113. ∫√2au − u2du = u−a √2au − u2 + 2 cos ( ) + C2 a 

2 2 a32u −au3a −1 a−u114. ∫u√2au − u2du = √2au − u2 + 2 cos ( ) + C6 a 

√2au−u2 −1 a−u115. ∫ du = √2au − u2 + a cos ( ) + Cu a 

√2au−u2 2√2au−u2 a−u116. ∫ u2 du = − cos−1( ) + Cu a 

du a−u117. ∫ = cos−1( ) + C a√2au−u2 

u du −1 a−u118. ∫ =− √2au − u2 + a cos ( ) + C a√2au−u2 

u2du (u+3a) √2au − u2 + 3a −1 a−u119. ∫ =− 
2 
cos ( ) + C2 2 a√2au−u2 

du √2au−u2
120. ∫ =− + Cau u√2au−u3 





Accessibility Report





		Filename: 

		Table of integrals.docx.pdf









		Report created by: 

		



		Organization: 

		







[Enter personal and organization information through the Preferences > Identity dialog.]



Summary



The checker found no problems in this document.





		Needs manual check: 0



		Passed manually: 2



		Failed manually: 0



		Skipped: 4



		Passed: 26



		Failed: 0







Detailed Report





		Document





		Rule Name		Status		Description



		Accessibility permission flag		Passed		Accessibility permission flag must be set



		Image-only PDF		Passed		Document is not image-only PDF



		Tagged PDF		Passed		Document is tagged PDF



		Logical Reading Order		Passed manually		Document structure provides a logical reading order



		Primary language		Passed		Text language is specified



		Title		Passed		Document title is showing in title bar



		Bookmarks		Passed		Bookmarks are present in large documents



		Color contrast		Passed manually		Document has appropriate color contrast



		Page Content





		Rule Name		Status		Description



		Tagged content		Passed		All page content is tagged



		Tagged annotations		Passed		All annotations are tagged



		Tab order		Passed		Tab order is consistent with structure order



		Character encoding		Passed		Reliable character encoding is provided



		Tagged multimedia		Passed		All multimedia objects are tagged



		Screen flicker		Passed		Page will not cause screen flicker



		Scripts		Passed		No inaccessible scripts



		Timed responses		Passed		Page does not require timed responses



		Navigation links		Passed		Navigation links are not repetitive



		Forms





		Rule Name		Status		Description



		Tagged form fields		Passed		All form fields are tagged



		Field descriptions		Passed		All form fields have description



		Alternate Text





		Rule Name		Status		Description



		Figures alternate text		Passed		Figures require alternate text



		Nested alternate text		Passed		Alternate text that will never be read



		Associated with content		Passed		Alternate text must be associated with some content



		Hides annotation		Passed		Alternate text should not hide annotation



		Other elements alternate text		Passed		Other elements that require alternate text



		Tables





		Rule Name		Status		Description



		Rows		Passed		TR must be a child of Table, THead, TBody, or TFoot



		TH and TD		Passed		TH and TD must be children of TR



		Headers		Skipped		Tables should have headers



		Regularity		Passed		Tables must contain the same number of columns in each row and rows in each column



		Summary		Skipped		Tables must have a summary



		Lists





		Rule Name		Status		Description



		List items		Skipped		LI must be a child of L



		Lbl and LBody		Passed		Lbl and LBody must be children of LI



		Headings





		Rule Name		Status		Description



		Appropriate nesting		Skipped		Appropriate nesting










Back to Top

